e JC O

3. Workout 418 x7

4. Work out 2394 + 9
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10. A“M’MM&I&M
(a) What is the cost of one Doggy Chew?
Give your answer in pence.
S A= - 19
7 B
3 § TRy vy
, Answer:

wmynzaheuofbowumndmmamu
(b) How much change should she receive?
3.43(2)- <.3C

20‘0.8@ "M
Answer: £ 3145

11, The thermometers below show the temperatures inside and outside a window at
midday, one day in winter. B

(a) How many degrees warmer is it inside than outside the window?

gy
-

Answer: 20 m i

e At midnight, the temperature outside had fallen by 2 degrees.

(b) What was the temperature outside the window at midnight?

s P
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example:

(b) A different number machine produces the input and output table below.

output w

S o

St
T

What is the rule for this number machine?
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G

17. a*p-ﬁm-do—‘.d.l.m.ﬂ .

J

Gieorge is 12 years and 5 months old.
How old is Sophic? ~ e
foks. OFF ‘

ke L&Q(g'-ﬂ.@h caq

R Gears g PR O _

18. Kathy has used her calculator to find out that @x 641 = 8333
Use Kathy's calculation to work out

(a) 130 x 641

(c) 23 X 641
/3XG—H.— 8333

LGE Smper G110

83334 ¢+0= 14743
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20. (a) Draw all of the lines of symmetry on the shape below.

(¢) Add one square to the picturc drawn on the dotted grid below, so that the
finished shape has exactly one line of symmetry.

Q 283008 10

3
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(i1) What is the area of shape §?

(b) On the centimetre-squared grid below, draw a triangle with area 21 cm?,
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25. Janice has a cube with 2 grey faces and 4 white faces.
The 2 grey faces are opposite each other.

(a) Complete the diagram to show a possible net for the cube.

/

(b) If the cube is rolled 60 times, how many times would you expect to see a grey face
on the top?

PQfeuls.2 = 4L
fRenn 2
CoOX = )

3 %}

Answcr.2 Q

Janice rolls the cube once.

(c) Draw an arrow on the scale below to show the probability that it will stop with a

white face on the top. ka0
| | | | % |
e T T I 1 I ;
impossible cven certain
chance
Blu) = 4= 2 _2'((;):4{-
¢ 2 2.

- -
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28. uumw-um»mn*dp-ﬂ%f
the 26 girls in class 6A. e

No-one has more than 5 pets.

1\

-}
L 11

number of girls
3
il
r‘

0 0 1 2 A \ %

3 4 5
5 5 gnmnbero&peu 3
(a) How many girls have 3 pets?
Answer:Q

(b) Complete the bar chart by drawing the bar to show the number of girls who have
s G -24=2

(c) How many pets are owned altogether by the 26 girls?

Answer: ... ‘ =

16
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m.%wuhmmnmn-ﬂ.ﬁunuh

When it s born, the Josk has ne heed withSiin edanebody
segment with two pairs of bristles, as shown:

At the start of each year, aloukgmwsonenmmw *
segment so that at the start of the second year it looks like this:

(a) In the space below, draw a sketch of a Joak at the start of its third year.

pesty

(b) Complete the table below.

¥} g b
sartof year | number of segments | mumber of bristles |
1 (when bom) 1 \ s Ay
2 2 l 9 \
. T
. \s b ol g
5 5 it
(¢) How many bristles will a Joak have during its 10th year?
Q5. =4
A ot g

(d) In which year will a Joak have 65 bristles?
b LoV o < QS
5+ +<n- ) =

_)

283008 18

I

Answer: f@ ......................................
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35. In the diagrams below, the square and rectangle have the same perimeter.
The square has an area of 64 cm’.
) The length of the rectangle is three times the width of the rectangle.

Work out the length of the rectangle.

[~

width

|

g | chem

3 3“*1:\1?3\,44“ .
B\A 38
p= &2 = 4
| ‘7L—12 .
‘ Amwc:r.[2 . cm \

‘- 36. In the following diagrams, the number undemeath is calculated using a rule.
The rule is muldply the numbers in the white regions and then add the numbers
in the grey regions.” A

The total is written underneath the diagram.

| For example: v

85

Fill in the dotted lines to complete the following diagrams.

n - -

.“.‘2:
4‘8“‘%"155 J‘Jff\\'k;— 1‘

O O;BM; . Xy = 21

X2}
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P %
'56\0
VA
‘ NGt GSKt L O(/O,
y >y O -~ E da
Rech, bu+ é Prica. o 9%,

. Sombinod ion,
38. (Magda and her friends go to the cinema.|
S, A Th-yhlyllupmbaf@psom.An m-‘dwmo@m
o % “The bill comes to £10.89
22
o C,_ (med!wrfrimdlpwthccimuq
< x They buy 1 large tub of popcorn, 3 fizzy drinks and 7 packets of crisps.
= O The bill comes to £8.64

Howmhwuuhconwbuyllupmbon;opcom.lﬁnym-d\md
crisps? \J

P+ 4dtioc =10.89 @ W
. ! W
P+ 3dt 7c = 8. 64 D

¢ O

i O 560 d+Ic=2.25 @ XS by 3 A

1 ASHRt g = g5 ® o x@Dby 2 R
s th\

S0P €d v 100 = (O, 89 ()
44 9C = C.75 (9

»”
;" 30 Ptatc < o 2q - >
BN T 6. 1D
)J; Answer: LI"".? ......................

L:lu\

\_{ Also  IKpow _zP AL Tl
P 4 but OOt heipfy UNile  Specs
NGy L
......... %ﬁ-e o, L ‘0,
4/ ,J ¢ X 3 &" ()’)
g Y ) 6 2. (Total: 100 marks)

24


https://mymathscloud.com
https://mymathscloud.com

